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1. Mae Jong Corp. issued 1,000 convertible bonds at the beginning of 2019. The bonds have a
four-year term with a stated rate of interest of 6 percent, and are issued at par with a face
value of €1,000 per bond (the total proceeds received from issuance of the bonds are
€1,000,000). Interest is payable annually at December 31. Each bond is convertible into 250
ordinary shares with a par value of €1. The market rate of interest on similar non-convertible
debt is 9 percent. Assume that at the issuance date, €97,187 was credited to Share
Premium—Conversion Equity. The bonds were not converted at maturity and Mae Jong
pays off the convertible debt holders. What amount will Mae Jong record as a gain or a loss
on this transaction?

a. €-0- b. €97,187
c. €24297 d.€250,000

2. On January 1, 2017, Korsak, Inc. established a share appreciation rights plan for its executives. It
entitled them to receive cash at any time during the next four years for the difference between the

market price of its ordinary shares and a pre-established price of €20 on 60,000 SARs. Current fair
values of the shares are as follows:

January 1, 2017 €35 per share
December 31, 2017 38 per share
December 31, 2018 30 per share
December 31, 2019 33 per share

Compensation expense relating to the plan is to be recorded over a four-year period beginning
January 1, 2017.  What amount of compensation expense should Korsak recognize for the year
ended December 31, 20187

a. €0 b. €30,000
c. €300,000 d. €150,000

3. Five years ago, Dunn Trading Co. issued 2,500 ordinary shares. The shares have a £2 par value
and sold at that time for £12 per share. On January 1, 2019, Dunn Trading Co. Purchased
1,000 of these shares for £24 per share. On September 30, 2019, Dunn reissued 500 of the
shares for £28 per share. The journal entry to record the reissuance will include
a. A debit to Treasury Shares £12,000.
b. A credit to Share Premium—Treasury £2,000.
c. A credit to Treasury Shares £14,000.
d. A credit to cash £14,000.

4. Foyle, Inc., had 560,000 ordinary shares and outstanding at December 31, 2018. On July 1, 2016,
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an additional 40,000 shares were issued for cash. Foyle also had unexercised share options
to purchase 32,000 ordinary shares at £15 per share outstanding at the beginning and end
of 2019. The average market price of Foyle's ordinary shares was £20 during 2019. What is
the number of shares that should be used in computing diluted earnings per share for the
year ended December 31, 20197

a. 580,000 b. 588,000

c. 608,000 d. 612,000

5. A company buys an oil rig for €2,000,000 on January 1, 2014. The life of the rig is 10 years and
the expected cost to dismantle the rig at the end of 10 years is €400,000 (present value at
10% is €154,220). 10% is an appropriate interest rate for this company. What expense
should be recorded for 2019 as a result of these events?
a. Depreciation expense of €240,000
b. Depreciation expense of €200,000 and interest expense of €15,422
c. Depreciation expense of €200,000 and interest expense of €40,000
d. Depreciation expense of €215,422 and interest expense of €15,422

6. Winter Co. is being sued for illness caused to local residents as a result of negligence on the
company's part in permitting the local residents to be exposed to highly toxic chemicals from
its plant. Winter's lawyer states that it is probable that Winter will lose the suit and be found
liable for a judgment costing Winter anywhere from €1,200,000 to €6,000,000. However, the
lawyer states that the most probable cost is €3,600,000. As a result of the above facts,
Winter should accrue
a. a loss contingency of €1,200,000 and disclose an additional contingency of up to
€4,800,000.

b. a loss contingency of €3,600,000 and disclose an additional contingency of up to
€2,400,000.

c. aloss contingency of $3,600,000 but not disclose any additional contingency.

d. no loss contingency but disclose a contingency of $1,200,000 to $6,000,000.

7. At the beginning of 2017, Gannon Company received a three-year zero-interest-bearing €1,000
trade note. The market rate for equivalent notes was 8% at that time. Gannon reported this
note as a €1,000 trade note receivable on its 2017 year-end statement of financial position
and €1,000 as sales revenue for 2017. What effect did this accounting for the note have on
Gannon'’s net earnings for 2017, 2018, 2019, and its retained earnings at the end of 2019,
respectively?

a. Overstate, overstate, understate, zero
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b. Overstate, understate, understate, understate
c. Overstate, overstate, overstate, overstate

d. None of these answer choices are correct.

8. Kennison Company has cash in bank of £10,000, restricted cash in a separate account of £3,000,
and a bank overdraft in an account at another bank of £1,000. Kennison should report cash

of
a. £9,000. b. £10,000.
c. £12,000. d. £13,000.

9. On April 15 of the current year, a fire destroyed the entire uninsured inventory of a retail store.
The following data are available:

Sales, January 1 through April 15 €300,000
Inventory, January 1 50,000
Purchases, January 1 through April 15 250,000
Markup on cost 25%

The amount of the inventory loss is estimated to be

a. €60,000. b. €30,000.

c. €75,000. d. €50,000.

10. On January 3, 2017, Munoz Co. purchased machinery. The machinery has an estimated useful
life of eight years and an estimated residual value of €30,000. The depreciation applicable to
this machinery was €65,000 for 2019, computed by the sum-of-the-years'-digits method.
The acquisition cost of the machinery was
a. €360,000. b. €390,000.

c. €420,000. d. €468,000.
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